Gas Stoichiometry — Class

1. H, and O, are used to make water in the reaction below calculate volume of water inLatSTP.

2Ha(g) + Oa(g) > 2H:20(g)

a. 2 moles Hz + excess Ha:
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b. 2 mole Hy+ 2 moles Oz:
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¢. 4g of Ha + excess oxygen:

‘{QHtg ey ’LE}*“L - yugL
2 9 Tl T |

2. Using liters, please calculate the volume of gas produced in the reaction below.

2C0(g) +02 > 2C0:2

a. 2L of CO{g) and excess Oz:
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¢. 10L of CO{g) and 2L Ox:
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Draw 1 cycle of this reaction
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Gas Stoichiometry — Student

1. H,and O are used to make water in the reaction below calculate volume of water in L at STP.

CHslg) + 202(g) = COz(g) + 2H:0(g) |

3. 2moles CHs + excess
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b. 2 mole CH; + 2 moles Oz
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c. 4g of CHy + excess Oxygen:
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2. Usmg liters, please calculate the volum* in the reaction below.
{

CaHa(g) + 30208) > 2C0:{g) + 2H20(g}
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a. 2Lof Csz{{g) and excess Oz:
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b. 2L of CzH%{g} and 10L 02
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c. 10L of CoHg(g) and 2L Oz
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Draw 1 cycle of this reaction
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